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3 = 29 (1—cos@1+cos@) 1+ cosé
ZQ(COSZ(,) 1—cos® _ 1—cos @
14cos@ 14+ cosé
Volsin2@  vy’sin?6
27 - 20 Y 29. csc? @ = cot? @ + sin 6 csc O
o delss LaSes coyoelid &, dang 3asgll 3505 alasawl 59 csc? @ = cot? @+ sin @+ e
2 2 — )
.cos‘y() + sinc 0 = 1 . P g
csc? @ =csc?h v
30. secO—cscO 2 n 09— cos @
csc Osec
secl ____ o 2 gng—coso
- cos 0 0.0 cscOsec® cscBsecd
(0] X 1 1 ?
sin 6 — =sin@ —cos O
cscl  sech
(cos 6, sin 6 sin® — cos @ =sin® — cos O v
31. sin? 0 + cos? 0 = sec? O — tan? O
{ 1=tan?0+1—tan?6
Sle €052 0 + sin? 0 = 1 amlazll s> JS Liewud 13) =14
2 _ 2 n . .. v 2 > .
tan® 0 = sec® 0 + 1yl .5 LuSed .cOs° 0 32. sec @ — cos @ = tan @ sin 0
2 2 )
cos’6 , sin"6 _ 1 5 — €os @ = tan @'sin 6
cos’®  cos’@® coslé cos
2
14 tan? @ = sec? @ 1__ 0501 4an0sin0
\ 5 cos @ cos @
1+ tan“ 6 = sec” 6 1—cos2@ - .
| =22 2 tan Bsin 6
sle €052 0 + sin? @ = 1 amlazell as> S Loewd 13) —
cot?2 0 +1=csc?0 . ,.,5 LuSes .sin? 6 sin2 - ——"
cos?@ | sin?@ _ 1 e 0
sinf®  sin@  sin?é@ (s;r;(:)) sin @ = tan @sin O
cot?@+1=csc? 6 ] .
tan Osin @ =tan @sin @ v
12-3 0!
30. F = W(sinA + p c'os A) 51a
CosA — usinA
W(sin A + tan € cos A) .
" cosA—tanfsinA 28.2m W
; 56.4 m 45°
W( sin A i tan BcosA)
- cos A cos A 845 60°
T cosA  tan@sinA 2 M
cosA cos A 1127 m 900
B W(tan A + tan 6)
~ 1—tanAtan @
= Wtan (A + 6)
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37. sin (A + B) sin (A — B) = sinA — sin’B
(sin A cos B + cos A sin B)

(sin A cos B — cos A sin B) = sin?A — sin?B
(sin A cos B)? — (cos A sin B)2 = sin?A — sin?B
sin? B cos? B — cos?A sin? B = sin’A — sin?B

sinA cos? B + sin?A sin? B —
sin?A sin? B — cos? A sin? B = sin’A — sin?B
sin?A (cos? B + sin? B) — sin? B (sin? A + cos?A) = sin’A — sin’B
(sin A)(1) — (sin? B)(1) = sin’A — sin?B

sin?A — sin?B=sin?A — sin?B v
1

tan (A + B)

1
tanA + tan B
1—-tanAtan B

_1—tanAtanB
"~ tanA+tanB

1 1
~ CotA cotB cotAcotB

1 + 1 " CotAcotB
cotA cotB

__CcotAcotB—1
" cotA+ cotB

40. cot (A + B)

1

1. d= \/ (cos e — cos 3)? + (sin a — sin 3)?
d? = (cos a — cos 3)% + (sin a — sin B)?

d? = (cos?a — 2 cos ax cos 3 + cos? B) + (sinfax — 2 sina
sin 3 + sin? 3)

d? = cos?a + sinZar + cos? 3 + sin? 3 — 2 cos ax cos 3 —
2sinasin 3

d2=141—2cosacos3 — 2sinasin 3

d?2=2—2cosacos 3 — 2sinasin3
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oMel zagadl JSEIN 3 LS aassll 3505 3 Gl pose
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.cos (30° + 45°) = cos 30° + cos 45° .5a slad) JloJ! ¥ .33¢

¥ cosine ded Q" (P 15731 gJ‘P 9" \25 + \/25 L.sgl..u.._)g

Ao i Lz 5Ll adgd 1 e LuSH 055 o) 05

. » tanA + tan B
34. sin (A + B) = secAsecB

sinA + sin B
» COSA cos B

sin (A + B) = —; 3

COSA cos B
sinA X sin B
! » C0OSA  cosB cosAcosB
sinfA + 6) == L1 cos A cos B
cosA cosB

sinAcosB + cosAsinB

sin (A + B) = 1
sinfA+B)=sin(A+B) v

—tanAtan B
secAsecB

sinA . sinB

35. cos(A+B)é1

1

» ' coSA
cos (A + B) = §°S 1(°SB

cosA cosB

sin A : sin B
_cosA_cosB  cosAcosB
1 1 cosAcosB
cosA cosB

cos (A + B) =

cos (A +B)é cosAcosB1—smAsmB

cos(A+B)=cos(A+B) v

secAsecB
14 tanAtanB

1 1

36. sec(A — B) =

” cosA  cosB
sec (A —B) = 1+ sinA__ sinB
CoSA cosB
1 : 1
v cosA cosB cosAcosB
sec(A—B) = 1+ sinA_ sinB " CosAcos B
cosA cosB
. 1
sec (A B)_cosAcosB+sinAsinB
» 1
sec(A—B)zcos(A_B)

seCc(A—B)=sec(A—B) v
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12. cot @ =1

€059 tano <1

sin @

cosf sinf -

sin@ cos@
1=1+¢
sinftan 6 -

13. 1_C059_(1+cos(7)sec9
¢ sin @
sm()(cose)l1+ a 1
1—cos# = e cos @

sin? @
cos @ » 1
1—cos(9—cosﬁ'+1
sinf6 1 . 1
cos® 1—cos@® cosé@
2
sin‘ @ 2 1 41
cos@(1—cos6) cosé@
i P "
1—cos“ @ 2 1 41
cos@(1—cosé) cosé
(1—cos@)1+cosb) , 1 4
cos1—cos@) — cos@
1+C0$0; 1
cos®  cosé
1 _ 1
cos()+1_cos(9+1‘/
. » COS @sin @
14. tan 01 —sin ) = 1+ sin B

. 7 COs@sin® 1—sin @
tan 6 (1 sunH)_Hsino T—<in 0

, €os @sin 6(1 — sin @
tan 0 (1 —sin 6) = A )

1—sin @
, €0s @sin 6(1 — sin 0)
tan @(1 — sin ) =
( 9 cos? 6
, » sin 6(1 — sin 0)
tan 01 — sin @) = oy
. R 2 sin @ e
tan @1 —sin 6) = oc 0 (1 —sin 6)
tan@(1—sinf)=tanB(1 —sinf) v
24
24 cos® _ 30 _24 . 24 _
15b. cot 6= 18’ sinf® ~ 18 ~ 18’ 18 =
30
2 hd tan @
16. tan“6+1= cos 6« sin @
20 2  tané@
sec’6 = cos 0+ sin 6
sin @
20 2 cos 6
sec 0 = cos @« sin @
20 2 sin @
seccf =
cos? @ «sin @
29 2 1
sec<f =
cos? 6

sec? @ = sec?O v

24

18

d = \/[cos (@ — B) — 12 + [sin (@ —3) — O]?

d? = [cos (a — B) — 1)2 + [sin (@ —B) — O]
= [cos? (o — B) — 2 cos (@ — ) + 1] + sin? (@ — 3)
= cos? (o — B) + sin? (a— B) — 2 cos (@ — B) + 1
=1—2cos(a—0)+1
=2—2cos(a—pf)
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cot @
cos@-sin @

cos 0
cos@+sinf-sin@

1. sec?O+1=

cscl O =

2 7
cscc 0 =
sin @

csc? @ =csclh v
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2
cot @ —tan @

2 . tan @
cotf@—tanf tané

2tan 0
cot @tan @ — tan? 6
2tan @
1—tan? 6

tan 20 =tan 20 v

26. tan 260 =

tan 260 =

tan 20 =

tan 20 =

27. 1+ 1sin2g 2 6O tsing
2 sec #

1 :
o + sin 6
1
cos @

2 cos()+sm0.cost9

1 cos 0
cos @

l-25in 6 cos 0

¢

=1+

N

=1+-;-sin29~/

v

. @ » siné
28. sin > €0s 5 >
et 8 o B
Sin 5 €os L sin@
2 -2

: (24
o 2(2) 5 sin@
2 -
sinf __ sin @
g2 2

v

¢ ? sin @
29. tan 2 1+4cosé@

il

0
14 cos 2(3)

0 .
tang_

2 sin ) cosg
2 2

1+2coszg—1

2 sin Qcosﬁ
2 2
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sinf@-+sect -
17. el = (sec @ + 1) cot @

secO+1_ sinB-sech -
sec@0+1 secf—1

(sec €@ + 1) cot 6

sin @+secO(secd+1) ,
= (sec @+ 1) cot @

sec?2 6 —1
1
cos 0

tan? @
sin @
cos ¢

sin @ + (sec @ +1)

= (sec @+ 1) cot @

(sec 8 +1)

—° = (sec @+ 1) cot @

tan O(secO+1) .,
( - )=(sec0+1)cot9
tan< @

%‘9;1& (sec @+ 1) cot @

sec f+ 1 1 -
3 i (sec @+ 1) cot O

(secO@+ 1) cot@= (sec@+1)cotf v
18. sin? 6+ tan? 6 = tan? @ — sin? 6

. 2

) 2 SIn 8 .

sin2 @« tan? O = E —sin?0
cos“ @

&3 0. Gl sin § — sirf 6 cos’ 6
cos“ @
sin @ (1 — cos? )
cos’ @
sin? @ (sin 6)
cos? 6
sin? @« tan? @ = sin? @ sin220
cos“ @
sinf@-tan’ @ =sin’ @-tan? 0 v

sin? @« tan? @ =

sin? @« tan? @ =

19. cot (1 — cos O) = Cg’sfgoss"l)g

» COs@+sinf@ 1—cosé
cot 6(1 — cos 6) = 1+cos® 1—cosé

, €0s @-+sin@(1— cos
cot (1 —cos ) = ( 4

1—cos? @
, €0S 0 +sin@(1— cosb)
cot @(1—cos 6) =
( 9 sin 6
, €o0s @(1—cos
cot @(1—cos 6) = (sin 9 L
» COS 0
cot @(1 —cos 0) = 5in B (1 — cos 6)

cot@(1—cosB)=cotO(1—cosb) v
25. cos 30° cos @ + sin 30°sin @ = sin 60°cos @ + cos 60°sin @

V3 1

. V3 1.
Tc050+551n9—7cos()+5sm0 v
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41. 1— 2sin? @ = cos 260

1—2sin2%=cosA
sinZA— 1—cosA
2 2
-y . 1—CcosA
Sin 5= :t\/—z

2 cos? @ —1=cos 26

2c052%—1= cos A

coszA— 1+ cosA
2 2

A 1+ cosA
cos > = + \/—2

Aseo-c‘?-*e%ub}f-
20 o Yoo

-Siﬂzg R ENY ¢ :J:-

ks S e il i)l s

A .
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2 cos? @ — 1= cos 20
a>g3 ) !yl amlaie

2coszgf1=cosA
AsBoe ¥ mge
260 o Yo

€0S% 5 sy Js
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12-5 Lo,
58a.
0° 1 210° —r
2
° _1_ ° _...\/-_._2.
30 > 225 :
45° g 240° _V3
2
60° ? 270° —1
90° 1 300° —@
120° ? 315° V2
2
. V2 . 1
135 -5 330 —
150° % 360° 0
180° 0

Fled! Jied) Go2 y = sin 60 ! Ml = .58b
.30° < 0 < 150°J acwdl y = _1

y=sin® (150°,1_)

Phed) Jia) 3ed y = sin 6 Sl Jiead) aa .58c
sin 0 3,235 .30° < 0 < 150° _J il yz%_n
o sin 6 > % Jsl=2 15 [-360°, 360°] 5L
30° + k- 360° < 6 < 150° + k - 360°

ols .0 = 45° + a sS Leaze .30
v2sin 2 (45° + a)

= g
vZsin (90° + 2a)
- g
v2(sin 90° cos 2ax + cos 90° sin 2a)
- g
v2(1+ cos 2a + 0 -« sin 2a)
- g
_ vicos2a
g
ole .0 =45° — a Leae
vZsin 2 (45° — a)
d= g
vZ sin (90° — 2a)
- g
v2(sin 90° cos 2a — cos 90° sin 2a)
- g
v?(1+ cos 2a — 0 « sin 2a)
- g
v2 cos 2t
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amlazydl jls . dazd SIiN 6 i _.,Jul 3]y . alasui U
plasaud Jad¥) s 5s5 cos 20 = 1 — 2 sin? 6
aalaz e 13) .sin 6 5 COS 6 e LS Codacl 13
LpamlaS o3l L cos 260 = cos? 6 — sin? 0

40. sin 260 = sin(6 + 6)
= sin 6@ cos @ + cos Osin O
= 2sin @ cos 0
cos 260 = cos(f + 6)
= €0s 0 cos & — sin Osin 6
= cos? @ — sin? @
o2 olasgss o) ,>) e €OS 260 _J abin - sbou) cliSg
' .cos2 0 — sin? 6 .l
cos? @ —sin2@=(1—sin?6) —sin? O

=1—2sin’ @
€052 0 450 5in2 0 — 1 a3«
el
cos? @ — sin? 6 = cos? @ — (1 — cos? 6)
=2cos? 0 —1
SiN2 0 o ¥ €OS2 0 — 1 n3e
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: Sn G = cos @ + cot 0
1—cosé

sinf , 1 cos 6
1—cos®  sin@  siné
sinf  », 1+ coséf

14

1—cos® sin@
sinf ., 1+cos® 1—cosé
1—cos®  sin@ 1—cos @

sinf  , 1—cos’@
1—cos @  sin &1— cos 6)
sinf > sin’#
1—cos®  sin &1— cos )
sinf _, sin#
1—cos® 1—cos#

16a. 182=92+0%324=81+0%243=0%0=9V3
16b. sin 20 = 2 sin 6 cos 6,
sin 2(30°) = 2 sin 30° cos 30°,

. 600_2(3)(9\/5)_162\/5_\/3.
SINOU"=2\3g\8 )= 324 ~— 2
. N3 3
SmGO—gw—'z—
v? 202
21. R =% sin 26; 25 = 98 sin 26: 0.6125 = sin 26;: 6 = 18.9°
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58d. .0°<60<45"and315° < 0 <360%0°+ k-360°< 0 <
45° + k - 360° and 315° + k - 360° < 6 < 360° +
k +360%ii.0° < 6 < 60°and 120° < 6 < 360° 0° +
k+360° < 60<60°+ k-360°and 120° + k - 360° <
0 < 360° + k - 360°; iii. 180° < # < 360°; 180° +
k+360° < 6 < 360°+ k- 360°%iv. 60° < 6 < 300°%
60°+ k « 360° < 0 < 300° + k - 360°

das ) podlg G yod) Jd s

30. sin (6 + 90) = cos 0
sin @ cos 90° + cos 6 sin 90° = cos 6
(sin 6)(0) + (cos B)(1) = cos 0

cos @ =cos @ v

31. sin (37“ - 9) = —cos 0

sin%‘cos 6 — cos‘%‘sin 0= —cos @

(—1) cos & — (0) sin & = —cos @
—C0s 0= —cos 0 v

32. tan(@—m) =tan@
tanf@—tanw -

1+tan0tan1r=tan0
tan®—0 2
il
tar1”9=’tan9
tan@ =tan b v
n20=24 _ 1 8 N0 6_3VI0
33.sm20—25,c0520—25,sm2— 0 €957 =70
2\V4+ V15
34.sin29=@,c0529=%,sing=\/— 3 V15
o _ V2Va-Vis
€os 5 = - 3
. a5 _ 1. 6_V30 6 _ V6
35. sin 20 = ——g - Cos 20 = —gSiny =g »andcos 5 = ===
36a. c2 =902+ 90% c2 = 8100 + 8100 : c2 = 16,200: ¢ = 90V/2
. 90 1 V2
36b. sin45° = = -
9ov2 V2 2
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90 _, /1i—0 _ 1 _ V2
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